C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 133+7= 2 120+6=
1.
=~/ = ~6=
(= +6= 2
3.
4,
3 78+6= 4) 136+8=
o La_ 5.
0= o= 6.
7.
8.
5 60=3= 6) 102+6=
9.
To= ~ 0= 10.
7) 57+3= 8 90+6=
9) 54+ 3= 10) 84 +-6=
+3= 0=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 133+7= 2 120+6=
1 19
70 7= 10 60 +6= 10
63 7= 9 60 =6= 10 2 20
3. 13
4 17
3) 78+6= 4 136+8= 20
5.
60 +6= 10 80 +8= 10
18 =6= 3 56 +=8= 7 6. 17
7. 19
8. 15
5 60+3= ® 102+6= 18
9.
30 +3= 10 60 +6= 10
30 3= 10 42 +6= 7 10. 14
7 57+3= 8 90+6=
30 +3= 10 60 =6= 10
27 +=3= 9 30 6= 5
9) 54 +3= 10) 84 +-6-=
30 +3= 10 60 +6= 10
24 +3= 8 24 6= 4
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
19 15 18 17 13
20 17 20 19 14 1.
1) 133+7= 2) 120+6= 2
=7 = 6= 3.
4,
5.
3) 78+6= 4 136+8=
P Lg= 6.
~6= +8= 7
8.
9.
5 60+3= 6) 102+6=
I - p= 10.
) 57+3= 8 90+6=
9) B4+3= 10) 84 +-6=
+3= —-0b=
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